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1  

 

 

 (a) Write down the order of rotational symmetry of the diagram. 

 

 Answer(a)   [1] 

 

 (b) Draw all the lines of symmetry on the diagram. [1] 

 

 

2 Write the following in order of size, smallest first. 

 

 

9

17

 

5

7

 72% 

_
1

4

3

⎛ ⎞

⎜ ⎟
⎝ ⎠

 

 

 

 

 

 Answer  <  <  <   [2] 

 

 

3 At 05 06 Mr Ho bought 850 fish at a fish market for $2.62 each. 

 95 minutes later he sold them all to a supermarket for $2.86 each. 

 

 (a) What was the time when he sold the fish? 

 

 

 

 

 Answer(a)   [1] 

 

 (b) Calculate his total profit. 

 

 

 

 

 

 

 

 Answer(b) $   [1] 
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5 In 1977 the population of China was 9.5 x 10
8

. 

 In 2007 the population of China was 1.322 x 10
9

. 

 Calculate the population in 2007 as a percentage of the population in 1977. 

 

 

 

 

 

 

 

 

 

 

 Answer  %[2] 

 

 

 

6  

 A = 
 0  1

4 12− −

     B = 
3  4 

0 4−

 

 

 Calculate the value of  5 |A| + |B|, where |A| and |B| are the determinants of A and B. 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

7 Shade the region required in each Venn Diagram. 

 

 

A

C

B

B' ∩ (A ∩ C )

A

C

B

B' ∩ (A ∪ C )
 

 

 

 [2] 
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5 Amalie makes a profit of 20% when she sells a shirt for $21.60. 

 

 Calculate how much Amalie paid for the shirt. 

 

 

 

 

 

 Answer $   [2] 

 

 

6 3
x

  ×  9
4

  =   3
n

. 

 

 Find n in terms of x. 

 

 

 

 

 Answer n =   [2] 

 

 

7 Shade the required regions in the Venn diagrams below. 

 

A B

C

A B

C

 

    [2] 

 

 

8 Write as a single fraction in its simplest form 

 

1

3 2

x x −

+ . 

 

 

 

 

 

 

 

 

 Answer   [2] 
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1 Marcus receives $800 from his grandmother. 

 

 (a) He decides to spend $150 and to divide the remaining $650 in the ratio 

 
 savings : holiday = 9 : 4. 

 
 Calculate the amount of his savings. 

 

 

 

 Answer(a) $   [2] 

 

 (b) (i) He uses 80% of the $150 to buy some clothes. 

 

 Calculate the cost of the clothes. 

 

 

 

 

 Answer(b)(i) $   [2] 

 

 (ii) The money remaining from the $150 is 37
1

2

% of the cost of a day trip to Cairo. 

 Calculate the cost of the trip. 

 

 

 

 

 

 Answer(b)(ii) $   [2] 

 

 (c) (i) Marcus invests $400 of his savings for 2 years at 5 % per year compound interest. 

 

 Calculate the amount he has at the end of the 2 years. 

 

 

 

 

 

 Answer(c)(i) $   [2] 

 

 (ii) Marcus’s sister also invests $400, at r % per year simple interest. 

 At the end of 2 years she has exactly the same amount as Marcus. 

 

 Calculate the value of r. 

 

 

 

 

 

 

 

 Answer(c)(ii) r =   [3] 
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1 Alberto and Maria share $240 in the ratio  3 : 5. 

 

 (a) Show that Alberto receives $90 and Maria receives $150. 

 

  Answer(a) 

 

           [1] 

 

 (b) (i) Alberto invests his $90 for 2 years at r % per year simple interest. 

   At the end of 2 years the amount of money he has is $99. 

   Calculate the value of r. 

 

 

 

 

 

 Answer(b)(i) r =   [2] 

 

  (ii) The $99 is 60% of the cost of a holiday. 

   Calculate the cost of the holiday. 

 

 

 

 

 Answer(b)(ii) $   [2] 

 

 (c) Maria invests her $150 for 2 years at 4% per year compound interest. 

  Calculate the exact amount Maria has at the end of 2 years.  

 

 

 

 

 

 

 Answer(c) $   [2] 

 

 (d) Maria continues to invest her money at 4% per year compound interest. 

  After 20 years she has $328.67.   

 

  (i) Calculate exactly how much more this is than $150 invested for 20 years at 4% per year 

simple interest. 

 

 

 

 

 

 Answer(d)(i) $   [3] 

 

  (ii) Calculate $328.67 as a percentage of $150. 

 

 

 

 Answer(d)(ii)  % [2] 
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1 Daniella is 8 years old and Edward is 12 years old. 

 

 (a) Their parents give them some money in the ratio of their ages. 

 

  (i) Write the ratio Daniella’s age : Edward’s age in its simplest form. 

 

 Answer(a)(i)  :  [1] 

 

  (ii) Daniella receives $30. 

Show that Edward receives $45. 

 

   Answer(a)(ii) 

 

 

    [1] 

 

  (iii) What percentage of the total amount of money given by their parents does Edward receive? 

 

 

 

 Answer(a)(iii)  % [2] 

 

 

 (b) Daniella invests her $30 at 3% per year, compound interest. 

  Calculate the amount Daniella has after 2 years. 

  Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 Answer(b) $   [3] 

 

 

 (c) Edward also invests $30. 

  He invests this money at a rate of r % per year, simple interest. 

  After 5 years he has a total amount of $32.25. 

  Calculate the value of r. 

 

 

 

 

 

 

 

 

 

 Answer(c) r =   [2] 
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10 In this question give all your answers correct to 2 decimal places. 

 

 (a) A bank has an exchange rate of $1= € 0.6513. 

 

  (i) Jonathan changes $500 into euros (€). 

   Calculate the amount Jonathan receives. 

 

 

 

 

 

 

 

 Answer(a)(i) €   [2] 

 

  (ii) Arika changes  €300 into dollars. 

   Calculate the amount Arika receives. 

 

 

 

 

 

 

 

 

 

 Answer(a)(ii) $   [3] 

 

 (b) Dania borrows $325 for 2 years at a rate of 3.8% per year simple interest.  

  Calculate the total amount Dania owes after 2 years. 

 

 

 

 

 

 

 

 

 

 
 Answer(b) $   [3] 

 

 (c) Lee borrows $550 for 2 years at a rate of 6% per year compound interest.  

  Calculate the total amount Lee owes after 2 years. 

 

 

 

 

 

 

 

 Answer(c) $   [3] 

 

 

Question 11 is printed on the next page.
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8 In this question give all your answers to 2 decimal places. 

 

 (a) Ankuri lends her brother $275 for 4 years at a rate of 3.6% per year simple interest.  

  Calculate the total amount her brother owes after 4 years. 

 

 

 

 

 

 

 

 

 

 Answer(a) $   [3] 

 

 

 (b) Monesh invests  $650 in a bank which pays 4% per year compound interest.  

  Calculate the amount Monesh will have after 2 years. 

 

 

 

 

 

 

 

 

 

 Answer(b) $   [3] 

 

 

 (c) Theresa and Ian have 400 euros (€) each. 

 

  (i) Theresa changes her €400 for pounds (£) when the exchange rate is €1= £ 0.7857. 

   Calculate the amount she receives.  

 

 

 

 

 

 

 Answer(c)(i) £   [2] 

 

  (ii) Ian changes his €400 for dollars ($) when the exchange rate is $1= € 0.6374. 

   Calculate the amount he receives.  

 

 

 

 

 

 

 Answer(c)(ii) $   [3] 
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9 Johan invested $600 for 3 years at 4% per year compound interest. 

 

 Calculate the final amount he had after three years. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

10 Solve the simultaneous equations    2x + y = 5    and     2y = x – 10. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 
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9  

A

B

P

Q

C

8 cm

10 cm

12 cm

NOT TO
SCALE

 

 

 APB and AQC are straight lines. PQ is parallel to BC. 

AP = 8 cm, PQ = 10 cm and BC = 12 cm. 

Calculate the length of AB. 

 

 

 

 

 

 

 

 Answer AB =  cm [2] 

 

 

 

10 Nikhil invests $200 for 2 years at 4% per year compound interest. 

 Calculate the exact amount Nikhil has after 2 years. 

 

 

 

 

 

 

 

 Answer $   [2] 

 

 

 

11 In a group of 24 students, 21 like football and 15 like swimming. 

 One student does not like football and does not like swimming. 

 Find the number of students who like both football and swimming. 

 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

4 

© UCLES 2011 0580/23/M/J/11  

For 

Examiner's 

Use 

7 (a) Find the value of x when   

x

27

24

18

=  . 

 

 Answer(a) x =   [1] 

 

 (b) Show that  

3

2

 ÷  1

6

1

  =  

7

4

. 

 Write down all the steps in your working. 

 

 Answer(b) 

 

 

 

 

 
 

 

 [2] 

 

 

8 Solve the simultaneous equations. 

 x + 2y = 3 

 2x – 3y = 13 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

 y =   [3] 

 

 

9 Eva invests $120 at a rate of 3% per year compound interest. 

 

 Calculate the total amount Eva has after 2 years. 

 Give your answer correct to 2 decimal places. 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 
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1 (a) Work out the following. 

 

 (i) 

2

0.2

1

 

 

 Answer(a)(i)   [1] 

 

 (ii) 
22

7.345.1 ×+  

 

 Answer(a)(ii)   [1] 

 

 (iii) 25
2

1

 × 1000
3

2

−

 

 

 Answer(a)(iii)   [2] 

 

 

 (b) Mia invests $7500 at 3.5% per year simple interest. 

 Calculate the total amount she has after 5 years. 

 

 

 

 

 

 Answer(b) $   [3] 

 

 

 (c) Written as the product of prime factors   48 = 2
4

 × 3. 

 

 (i) Write 60 as the product of prime factors. 

 

 

 

 

 Answer(c)(i)   [2] 

 

 (ii) Work out the highest common factor (HCF) of 48 and 60. 

 

 

 

 

 

 Answer(c)(ii)   [2] 

 

 (iii) Work out the lowest common multiple (LCM) of 48 and 60. 

 

 

 

 

 

 Answer(c)(iii)   [2] 
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3

4

8

27

−

⎟

⎠

⎞
⎜

⎝

⎛
. 

 Give your answer as an exact fraction. 

 

 

 

 

 

 Answer   [2] 

 

 

5 The population of a city is 128 000, correct to the nearest thousand. 

 

 (a) Write 128 000 in standard form. 

 

 

 Answer(a)   [1] 

 

 (b) Write down the upper bound of the population. 

 

 

 

 Answer(b)   [1] 

 

 

6 Pedro invested $800 at a rate of 5% per year compound interest. 

 Calculate the total amount he has after 2 years. 

 

 

 

 

 

 

 

 Answer $   [2] 

 

 

7 Show that  3 –2

 + 2 –2

 = 

36

13

. 

 Write down all the steps of your working. 

 

 Answer 

 

 

 

 

 

 

 

 

 [2] 

 


